VIK Midtdeler

Mid barrier
Installation manual

oo o
Leverandgr: Vik: Orsta:
@ 6893 Vik i Sogn Skorgeura
6150 Qrsta
TIf: +47 57 69 86 50 TIf: +47 70 04 70 00
Faks: +47 57 69 86 60 Faks: +47 70 04 70 04
firmapost@vikorsta.no firmapost@vikorsta.no



mailto:firmapost@orsta.com
mailto:firmapost@orsta.com

Installation manual a SAFE
Vik midtdeler

Index

1.

2.
3.
4.

5.

6.
7.
8.

I POIEANT e e
D= of o 1[0
WYY o) o =T s (o] o 4o ¥ ool ISP
Ta TS = 1 1T o =R
Yo T I Y ol o] F= Yol =T 0 4 1= | PPN
4.2 INSTAllING The POSTS weiiieiieei i e et e e e et e e e e s bt e e e e sbteeeeebeeeeeanstaeeesastaeeesstaeessantanassnns
4.3 INStalliNg the ProfilES....uviii e e e s bte e e s s bte e e e sebtaeeesntaeeesanraeeesan
Ny N T o 1 =1 - 1T o TSROSO
IMIAINTENANCE ...ttt e e ettt et e e e e e s ettt e e e e e s e s anbabtaeeeeesasssbebaeeeesseaasnsbaaeeaesssanannns
LT A0 =T Yo Y o - PSSP RRPR
210 LR [ o i 7 1 4T 0 L] PRSP
IVI@IKINE «.vteeeitiee ettt ettt e ettt e e e ettt e e e et e e e e st eeeesaabaeeeeaabeeeesasseaeeeaaseaeeesaseaeesanseeeessnseneessnssaeessnssanesanns
BT 1TV o ¥ =P PP PPTPPUPPTRTRN

company




Installation manual a SAFE company

Vik midtdeler

1. Important
Proper installation and repair is essential to ensure the systems maximum performance.

2. Description
The Vik midtdeler is a steel road restraint system that is designed to enhance safety on the roads.

The system has successfully been tested according to classes N2 described in EN 1317-2.

The system is based on sigma steel posts with post distance of 2 meters and longitudinal steel A-profiles
on both sides of the posts.

In a collision the system is designed to lead the vehicle back on the road.

The bolts are an important part of the systems function and this manual should be read carefully before
installation is started.

3. Level of performance
According to EN-1317

Post distance | Containment level Working width Dynamic deflection Impact severity
(w] level
2m N2 1,37m/W5 1,1m A

4. Installing

4.1 Soil and placement

The soil where the barrier is placed should be of sufficient quality to ensure the guardrails function.

The posts should bend and not break up true the soil or be pulled up when the barrier is hit.

4.2 Installing the posts

The posts should be installed with a distance of 2 meters.

The holes for the posts should normally be pre-drilled or pre-rammed before installing the post. They
should be drilled to the correct level or deeper, to ensure that there is no need to ram the posts after they
are placed.

After alignment and height adjustment, parts of the hole around the post should be filled with gravel to
lock the post in the correct position.

-



Installation manual a SAFE

Vik midtdeler

4.3 Installing the profiles

The guardrail profiles have one wide and one narrow end, the narrow end is marked with a small (8mm)

hole.

When connecting the profiles, the wide end of the profile is placed outside the narrow end of the
following barrier, in the direction of traffic.

4.4 After installation
When the guardrail is installed and adjusted, the holes around the post should be fully refilled.

5. Maintenance

There are no general inspections intervals for this guardrail itself. Inspections intervals have to be
determent based on local factors such as volume of traffic, risk of damage, climate etc.

The guard rail should be inspected regularly and if displaced or damage, it should be adjusted and
repaired.

All damage profiles should be replaced with new when repaired.

5.1 Cleaning

Cleaning can be done with water and any type of Ph neutral detergent.

company

s



Installation manual

Vik midtdeler

6. Bolts and fasteners

Art. nr. | Description Amount
60606 | Fastening bolt M10x40 mm (hot dip galvanized)
601310040  Bolt M10x40 1
934310000 Nut M10 1
60984 Washer M10, 30x30x3 1
60980 Washer M10, 115x40x5 1
60607 | Fastening bolt M10x45 mm (hot dip galvanized)
601310045 Bolt M10X45 1
934310000 Nut M10 1
60984 Washer M10 1
60980 Washer M10 1
60639 | Connecting bolt M16x25 mm (hot dip galvanized)
60641 Bolt M16x25 1
692316000  Flange nut M 16 1
60640 | Connecting bolt M16x25 mm (hot dip galvanized)
60641 BoltM16x25 1
60643 Nut M16 1
60642 Washer M16 1
60255 | Connecting bolt for distance box M16x40 mm (Galv)
933316040 BoltM16x40 4
60643 Nut M16 4
60254 Washer 115x40x6 2 hole 2

a SAFE

company

-



Installation manual a SAFE
Vik midtdeler

company

Placement of bolts, nuts and washers

SIGMA POST

Article: 60606, 60607

Washer M10,
30x30x3 mm

Washer M16

Bolt M16x25

Nut M16
Flange nut M16

Washer M10,

115x40x5 mm Bolt M16x25

SIGMA POST

Article: 60639, 60640

s

Article: 60255

rail

Washer M16,
115x40x6 mm

Nut M16 Bolt M16

Distance box

Note: Please check that all bolts/fasteners are placed correct and all bolts-washer-nuts-connections are

normally/proper fastened/tighten.

7. Marking

If everything is done and installed according to this installation manual, the guardrail can be marked with

the CE-mark. This mark shall be placed at the end (the starting end) of the installed guardrail.



VIK

company

a SAFE

Installation manual

Vik midtdeler

S _ _ | i | e
G _ A jopEsI 3| 10} Bulup el Franee . ”a___u.m:ar_
s)sod ewhig
W 3-0¥001 Wi ¢ e 8]y0id-y
1BRPIPIL MIA
ad BEQ¥~> @lw Jusfypoo)| Buiu Boiog|
LA B ic@az SHr .o,ao:._m_azasm TAOUg g 10 uolrDas Yy uU0|3D3s
uonduossag ou CHy | sod
9L INN
0C/LL J8YSepp ﬁ\mﬁmu m%«u\@
GZXgLIN Ma1os juiof _ t I
— yoq Buiposuuy 0%309 9 :
SV N g HoR=es Il
(810U 2) 9X0PXG L1 Jaysep
0v<91 108 .
X0q 82ue)sIp Joj yun Bulusisey G209 G __ __ U
Jslueq pill J1op Xoq sduelsig €5209 14
2 OLA N |l
CXQEXOE JBYSEAA _ ; __
SXOPXGL | JBYSeAL
OPXOLN ¥og _ ; __
1s0d ewbBig 10} yun Bulusisey 90909 ¢ __ __
1sod ewbig 00209 [
i wuw ¢ ey siyoid-y 00009 L __ __
ol
o |
33 UolI3S il g Ll
g

8. Drawings
<

0S4

_H_M_u

0001 00071

[NOILO3dIC th&v

0007

<5

0oot

9

I S I




